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1. Which of the following is a second order surd?

6. 3. 4. 5. .
(iy v2 (i) (=7v8) (iii) 6v2 (iv) 3v9 (v) 9v8
2. Which of the following is a cubic surd?
9_ 4_ 3_ 5_ _
(i) v7 (i) 3v5 (iii)) 6v6 (iv) 5vV9 (v) (—-2v3)
3. Which of the following is a biquadratic surd?
4. 3. 7. . 5.
(iy 4v8 (ii) (—8v3) (iii) v8 (iv) 6v6 (v) 2v2
4. Which of the following is a fifth order surd?

4_ 9_ _ 5_ 3_
(i) (=2v2) (i) v5 (iii) 4v8 (iv) 2v8 (v) (—3v8)

95
5. The order of the surd 5 V64 is

9 1 5.
. 9 o1 4
(i) 64 (ii) 5 (iii) 5 (iv) s (v) v6

6. The rationalising factor of 5v85 =

. ! . 4.
(i) v83 (i) v88 (iii) 85 (iv) v85 (v) v85

Ifv2=1.4142,v3=1.7321,V5=2.2361, V7 = 2.6458,

7. 9v2
the value of - =
(—8v4)

(i) 0.205 (ii) 6.205 (iii) 7.205 (iv) 1.205 (v) -0.795

21 21_
8. V2x V4=

s
[oc)}

23_ 19_ 21 21
(i) v8 (i) v8 (i) v6 (iv) v1l (v)

9. 3V3 x5y2=

. 4. . .
(i) v1348 (ii) v1350 (iii)) v1352 (iv) 1350 (v) v1350



10.

11. -

12.

13.

14.

15.

16.

(i) 1 (i) 2 (i) 4 (iv) 0 (v) (—=2)

7v10
2V6

245 4
0y vay iy vBE i) 5 V) ViR v vay

(i) 0 (i) (=2) (i) 4 (iv) 2 (v) 1

3
7V9
3- =
5v7

3 5 3 3 441
() vi5E Gy V48 i) vi32 v vi32 v o

6 6. 6 . 6. 5
(iy v10 (i) v12 (iii) v7 (iv) v10

M3 ) g (i) g (v g (v el



1
(i) v8 (ii) v10 (iii) 8 (iv) w/28 (v) v5

18. Which of the following is an irrational number?

3
(i) j (i) 15.0556 (iii) (-3) (iv) v42 (v) 21

19. Which of the following is a rational number?

3
(i) v13 (i) -145 (iii) v85 (iv) v23 (v) v88
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